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e Question No.1

Select the most appropriate option to substitute the bold segment in the given sentence. If no substitution is

required, select No improvement.
Although he comesto the event, he was as usual late.
Options:

1. No Improvement
2.come to
3.cameto

4. will come to

5.

Answer : came to

e Question No. 2

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains

the error from the given options. If you don’t find any error, mark ‘No error’ as your answer.
Huda lived in / the southern part / off Germany.
Options:

1. off Germany

2. the southern part
3. No error

4. Huda lived in

5.

Answer : off Germany

e Question No. 3



Identify the Antonym for the word - Fortitude
Options:

1. Timidity
2. Timidity
3. Attitude
4. Courage

5.

Answer : Timidity

e Question No. 4

Choose the correct article from the given options and mark the appropriate option.
Harishchandrawas _____ honest king

Options:

1.a

2.an

3.the

4. No article

5.

Answer : an

e Question No. 5

Choose the appropriate option that fills in the given sentence correctly:
The team worked not only consistently ______ carefully.
Options:

1. likewise

2. besides
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3. but also
4. moreover

5.

Answer : but also

Question No. 6

The following sentence has a word or phrase bold. Read the sentence carefully and find which part of speech the

bold word belongs to. Indicate your response on accordingly.
He is the best candidate for the job.
Options:

1. Adjective

2. Adverb
3.Noun

4. Interjection

5.

Answer : Adjective

Question No. 7

Choose the correct antonym of the following word from the options given below:
Encourage

Options:

1. incite

2. persuade
3. aid

4. discourage

5.

Answer : discourage



e Question No. 8

Choose the appropriate meaning of the idioms from the choice given:

At the eleventh hour

Options:

1. at eleventh o' clock
2. at the last hour
3.arrive late

4. the last possible time

5.

Answer : the last possible time

e Question No.9
Choose the most appropriate phrasal verb.
Iwill _____ the agreement later.

Options:

1. checked out

2. be checking out
3.check in

4. check out

5.

Answer : check out

e Question No.10

Select the most appropriate option to fill in the blank.

It is their problem. Let solve it themselves.
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Options:

1. her
2.it
3.us
4.them

5.

Answer : them

e Question No. 1

Choose the right antonym for the below given word.

Cowardly

Options:

1. fearful

2. fearless
3. fearlessly
4. fearfully

5.

Answer : fearless

e Question No. 12

Choose the word which is most nearly the SAME in meaning as the word printed in Bold.

Acquitted

Options:

1. Convict
2.Blame

3. Pardon
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4, Sentenced

5.

Answer : Pardon

Question No. 13

Select the most appropriate synonym of the given word.
APPRISE

Options:

1. Ordinary
2. Support
3. Humility
4. Inform

5.

Answer : Inform

Question No. 14

In the following question, parts of a sentence have been jumbled and labelled as P, Q, R, and S. You are required to

rearrange the jumbled parts of the sentence and mark your response accordingly by selecting the correct option.
P: The importance of health

Q: To realize

R: And prioritise spending on health-care services

S: It is important for the States

Options:

1. PRQS
2.QPRS
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3.SPRQ

4.SQPR

Answer : SQPR

Question No. 15
Choose the correct form of conjunction for the given sentence:

The children went to see the horror movie, they had been warned not to do so.

Options:

1. since

2. as though
3.as

4. although

5.
Answer : although

Direction:

Read the given passage and answer the questionsthat follow.

As legend has it, Rome was founded in 753 B.C. by Romulus and Remus, twin sons of Mars, the god of war. They had
been left to drown in a basket on the Tiber River by a king of a nearby region and were rescued by a she-wolf. The
twins lived to defeat that king and founded their own city on the river’s banks in 753 B.C. After killing his brother,

Romulus became the first king of Rome, which is named after him. A line of Sabine,
Latin and Etruscan (earlier Italian civilisations) kings followed in a non-hereditary succession.

Rome’s era as a monarchy ended in 509 B.C. with the overthrow of its seventh king, Lucius Tarquinius Superbus,
whom ancient historians portrayed as cruel and tyrannical, compared to his benevolent predecessors. Rome how
turned from a monarchy into a republic. The power of the monarch passed to two annually elected magistrates
called consuls. They also served as commanders-in-chief of the army. The magistrates, though elected by the
people, were largely the descendants of the original senators from the time of Romulus. In 450 B.C,, the first Roman

law code was inscribed on 12 bronze tablets—known as the Twelve Tables—and publicly displayed in the Roman
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Forum. These laws included issues of legal procedure, civil rights and property rights and provided the basis for all

future Roman civil laws. By around 300 B.C. real political power in Rome was centered in the Senate.

Question No. 16
Which of the following is NOT an earlier Italian civilisation as mentioned in the passage?
Options:

1. Latin
2.Roman
3. Sabine
4. Etruscan

5.
Answer : Roman

Direction:

Read the given passage and answer the questionsthat follow.

As legend has it, Rome was founded in 753 B.C. by Romulus and Remus, twin sons of Mars, the god of war. They had
been left to drown in a basket on the Tiber River by a king of a nearby region and were rescued by a she-wolf. The
twins lived to defeat that king and founded their own city on the river’s banks in 753 B.C. After killing his brother,

Romulus became the first king of Rome, which is named after him. A line of Sabine,
Latin and Etruscan (earlier Italian civilisations) kings followed in a non-hereditary succession.

Rome’s era as a monarchy ended in 509 B.C. with the overthrow of its seventh king, Lucius Tarquinius Superbus,
whom ancient historians portrayed as cruel and tyrannical, compared to his benevolent predecessors. Rome now
turned from a monarchy into a republic. The power of the monarch passed to two annually elected magistrates
called consuls. They also served as commanders-in-chief of the army. The magistrates, though elected by the
people, were largely the descendants of the original senators from the time of Romulus. In 450 B.C,, the first Roman
law code was inscribed on 12 bronze tablets—known as the Twelve Tables—and publicly displayed in the Roman
Forum. These laws included issues of legal procedure, civil rights and property rights and provided the basis for all

future Roman civil laws. By around 300 B.C. real political power in Rome was centered in the Senate.
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e Question No. 17
Which of the following statements is NOT true?
Options:

1. Twelve Tables is the Roman code of law.

2. Romulus and Remus founded the city of Rome.

3. Consuls were elected every two years by the people.
4. Elected magistrates served as commanders-in-chief.

5.
Answer : Consuls were elected every two years by the people.

Direction:

Read the given passage and answer the questionsthat follow.

As legend has it, Rome was founded in 753 B.C. by Romulus and Remus, twin sons of Mars, the god of war. They had
been left to drown in a basket on the Tiber River by a king of a nearby region and were rescued by a she-wolf. The
twins lived to defeat that king and founded their own city on the river’s banks in 753 B.C. After killing his brother,

Romulus became the first king of Rome, which is named after him. A line of Sabine,
Latin and Etruscan (earlier Italian civilisations) kings followed in a non-hereditary succession.

Rome’s era as a monarchy ended in 509 B.C. with the overthrow of its seventh king, Lucius Tarquinius Superbus,
whom ancient historians portrayed as cruel and tyrannical, compared to his benevolent predecessors. Rome now
turned from a monarchy into a republic. The power of the monarch passed to two annually elected magistrates
called consuls. They also served as commanders-in-chief of the army. The magistrates, though elected by the
people, were largely the descendants of the original senators from the time of Romulus. In 450 B.C,, the first Roman
law code was inscribed on 12 bronze tablets—known as the Twelve Tables—and publicly displayed in the Roman
Forum. These laws included issues of legal procedure, civil rights and property rights and provided the basis for all

future Roman civil laws. By around 300 B.C. real political power in Rome was centered in the Senate.

e Question No.18

Lucius Tarquinius was overthrown because he was a:
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Options:

1. non-hereditary king

2. cruel monarch

3. descendent of Romulus
4. generous ruler

5.
Answer : cruel monarch

Direction:

Read the given passage and answer the questionsthat follow.

As legend has it, Rome was founded in 753 B.C. by Romulus and Remus, twin sons of Mars, the god of war. They had
been left to drown in a basket on the Tiber River by a king of a nearby region and were rescued by a she-wolf. The
twins lived to defeat that king and founded their own city on the river’s banks in 753 B.C. After killing his brother,

Romulus became the first king of Rome, which is named after him. A line of Sabine,
Latin and Etruscan (earlier Italian civilisations) kings followed in a non-hereditary succession.

Rome’s era as a monarchy ended in 509 B.C. with the overthrow of its seventh king, Lucius Tarquinius Superbus,
whom ancient historians portrayed as cruel and tyrannical, compared to his benevolent predecessors. Rome now
turned from a monarchy into a republic. The power of the monarch passed to two annually elected magistrates
called consuls. They also served as commanders-in-chief of the army. The magistrates, though elected by the
people, were largely the descendants of the original senators from the time of Romulus. In 450 B.C,, the first Roman
law code was inscribed on 12 bronze tablets—known as the Twelve Tables—and publicly displayed in the Roman
Forum. These laws included issues of legal procedure, civil rights and property rights and provided the basis for all

future Roman civil laws. By around 300 B.C. real political power in Rome was centered in the Senate.
Question No. 19
What is the passage mainly about?

Options:

1. The Republic of Rome

2. The history of Rome
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3. Roman myths and legends
4. The Roman code of law

5.
Answer : The history of Rome

Direction:

Read the given passage and answer the questionsthat follow.

As legend has it, Rome was founded in 753 B.C. by Romulus and Remus, twin sons of Mars, the god of war. They had
been left to drown in a basket on the Tiber River by a king of a nearby region and were rescued by a she-wolf. The
twins lived to defeat that king and founded their own city on the river’s banks in 753 B.C. After killing his brother,

Romulus became the first king of Rome, which is named after him. A line of Sabine,
Latin and Etruscan (earlier Italian civilisations) kings followed in a non-hereditary succession.

Rome’s era as a monarchy ended in 509 B.C. with the overthrow of its seventh king, Lucius Tarquinius Superbus,
whom ancient historians portrayed as cruel and tyrannical, compared to his benevolent predecessors. Rome now
turned from a monarchy into a republic. The power of the monarch passed to two annually elected magistrates
called consuls. They also served as commanders-in-chief of the army. The magistrates, though elected by the
people, were largely the descendants of the original senators from the time of Romulus. In 450 B.C,, the first Roman
law code was inscribed on 12 bronze tablets—known as the Twelve Tables—and publicly displayed in the Roman
Forum. These laws included issues of legal procedure, civil rights and property rights and provided the basis for all

future Roman civil laws. By around 300 B.C. real political power in Rome was centered in the Senate.

Question No. 20

Rome became a republic in

Options:

1.509 B.C.
2.300B.C.
3.753B.C.
4.450B.C.

5.



Answer : 509 B.C.

¢ Question No. 21
Sfe 77E e BT A SITd BIIC|

Rafed

N

Options:

1. BT AR

2. BRA dARY
3. AT AT

4. <afT] gHTd

5.

Answer : 3T HT THT

e Question No. 22
AfAeTRafa # @ B 41 IGE ddqaH A8t 8?
Options:

1. ®UTe
2. Pt
3. BBR
4. S

5.

Answer : BIa

e Question No. 23
ST BT agHT RS &-

Options:
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1. €838t
2.3/ 0
3.3y
4. gqdt

Answer : 33t

e Question No. 24
AfAARafd depdfal # BIH-A1 3TcidR EII?
9T 5t A 9 I T AT
Options:

1. TP AABR

2. 37U 3IBR
3. 3UHT 3ePR

4. 3qURBHT 3EIPR

5.

Answer : T PR

e Question No. 25
AfAerRafa # @ B A7 216G UqeR BT RIIAT 781 87?
Options:

1. 9Te
2. 19O
3,396
4.3

5.

Answer : 3TH
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e Question No. 26
Al T I AS &
Options:

1. 31g9af
2.
3. 99
4. o7

5.

Answer : 3[d_d

e Question No. 27
TRA H &fE T 2€E & WA B dft IR-IR afdberd &ft T &, 3afd afsey gAfe|
3RO
Options:

1. P

2.¢deg
3. (Pl

4. gfaredt

5.

Answer : BT

e Question No. 28
Options:

1L+ R



LIWAHEFR
3R + AR
4.7+ 3T
5,

Answer : g3 + §R

e Question No. 29
3R[CY I 8-
Options:

1. JBY R BI3T dlcd &7 &l

2. M1 U AT dretfd 1
3. 8Rff R QTR all
4. AT ATddbarat ART I

5.

Answer : GEMT U T STetfepl 2

e Question No. 30

AfFACTRafd IR B 3R[CE HITT BT T BIsT -

"S9 ITeAt § Q1511 7T T g 37R e ©t Afetar g1’

Options:

1. 13T 7T BT g
2. 3R ey Ht

3. HfeTdT @

4. 59 it &

5.

Answer : TS 7T &1 U
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e Question No. 31

'BIE BT BTH gIAd BT 3R D A0 T&l HETdRT 8-
Options:

1. @8 & < AT

2. QRT0T Bt R AT
3. Bl IR FET STHAT
4. &fct BT &R AfbTern

5.

Answer : Bt TR IRAT STATT

e Question No. 32
AfAerRafd 9 #, IR afderdl # 8, agHd G BT T BTl
Options:

1. TBT
2.8
3. 3RYOT
4.3

5.

Answer : §¢

e Question No. 33
AfFAARAfd arepat # F FEt afdse(d BT T BIsIv :
Options:

1. Teh Tedl T HIeT 13T
2. Tel T e AT w137
3. T HIAT el Bi @B
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4. TpeT i HICAT Tep AT

5.

Answer : Tel bl TP HIeT 37|

e Question No. 34
"5TGP FR IR IAIAT BI' D AT Teb el AT A I B T 8?
Options:

1. TR
2. IBIaToTf
3. TAGRRRR
4, Idg

5.

Answer : TTERRR

e Question No. 35
3R Pt GAfdl § BTH B R T | H Therdr 78 Aferd!” 3RY @ Aft Get dldiadf o-
Options:

1. U1t § UR 7 UTd), 79 & B 30S

2. T Bl €81 718, Fad B 5T1d gt T8
3. PISt 7 8 U al Aell ol 381

4. gafen # €13 7Te, HiAT Hied 7 IH

5.

Answer : GdTeT # 613 TTE, AT Afedt 7 W

Direction:
DD DD VDIV DD DPIIVIVVDVD DDV DD VDD DD DVDDIDVD DD DD DD DD DD IDIDVDD DIV DD DD IPVDD

22 W 1894 Bt oMW 2ft| SR FeIfd G B ER TR HETHT T Bt afSTs a JAaRfHIsT BT 3TN o7l 9 3= & RIERAT
TG 3R AT B HRATT HTE A1 GATT TS BUAT P HPHaH B AT B TG HeTqAT Meft arosft 31 & oft R 3 ot v
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YR TR A HETAT TTTEft Y YeTet #Repdt ATHdb Teb THTEIR UcR SfAT 3R 378 'S5 wlermdst A1 2R & 5ur o
UG B ofC BETl ok UG B dTc HeTqT el TR &) 781 R3R7eT I8 oRka AeTel afemTauT & ORf ofE 11T Tarefdr defer
oI B afty & 5718 & HRATIT &Y AaTufbR Adafd B P T+t UwEST Bt afdedT ot gTewT TRim a8 A1 B 571 @Pit A 377
22l # HATUfbR BT 3UT TEt BT 378 gER &2l # HATHfbR &3 &1 BIE Hdeld T&l 81 SHbI dRddid 36a2d dl HRATT &
TYTYR 1 AepT T ETEATd bl SI€ AeIGaR ST dTet B B STHBRT 3 WRdTa! @ €M 38T 50| 31d afers AWRIE afode
RfERET & gee ATl afET BRA 3T @11 ITER 57 A I BT APRE B oYl MR Tt st 3R wRet Saes: el 57 drost
qg2fd 81 77| 381N WRdTal B Afded Bl HdldR Bid §C Pel B afordd BT gRIY ARA5HIb BRI & 3R g4 Al dg Bt
Vi TRBR BT b TET oIl ITEIT HARIE DY ACTel 53U BIRE H deeip? HRATT P UfdRT & ¢ft HeRY BTl

Question No. 36
TTeft 57 BfpT GebeHT oTe B IfC S 7TE a2
Options:

1. G U3 BUt

2. SGECT e Bt

3. [SGecl U8 HH Ut
4. TGN HIBCAIR BUAt

5.
Answer : 3EGeTclT U8 BUAt

Direction:
DD PP DIVIVVIQ I PPIPIVIVID PP P PP DD IPIPIVD QP 07 D7 D90 I P07 797077 0 707 2799777

22 W 1894 Bt oMW 2ft| SR FeIfd YeIgeTel o ER TR HETdHT T Bt afSTe o JAaRfHIsT BT 3T Tl 59 3= & WRIERAT
e 3R ATeT B MR 31TE &1 3EgAcT TS BUt B Habed Bl AU B aTe HeTdHT Tl aToRft 31 @ @t 3aR &1 vt v
YR GATAR 3 HETqHT T Y et TRe)" ATHG T TATIR UaR fT 3R 37 '$f3 hiamsst AT ofiRve A BuT ok
Ta B T BeTl ™ TS B s1e HeTqHT TRt TR &) 81 <R318eT I8 Ra AeTel afeaHT & 92r BfT 7T AaTefeR Foferd
s @ afSe & 57T & HRdtat B FarefbR Adafd B & T gast Bt afdemT 2ft 58T IR I8 of Bf 517 @ 3 370
Sl # HATUfbR BT 3UNT 7Et BT 37 R 32I A HATHfbR &3 &1 b1 AdeTd T8l 81 SHb! dRddid 3qal dl HRART &
TATIR DI AT ATI ETeTTd DI &€ AdER S dTed DI Pt BRI 7 Rl & €M 38T ¢fE| 319 afers GARIE afeie
RfERET & geet ATl afeT BRA 3T AP TER 57 & I BT APRE B ot | MR Tt thsT 3R et SRaes: TTeft 57 ot
qIfd 8 7TC| 3HEM HRATaT B Afded B HeflbR BRd gE Bel Bf afddd bl IRIY ARA5HIP BRI & 3R SHP Al dg Bt
HI TRBR BT [T TEt oIl | ITEI HARIE BT ACTel 53147 BIRE H decid? HRATT P UfdRT & eft HeRY BTl
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e Question No. 37
QRIS BT TN BRIDT afGTE b AT BT 7T 2T?
Options:

1. USfd STaTeeliel 48
2. HETaHT IMTeft

3. TSIt TR S
4. YT BYUT IRt

5.
Answer : HEIHT? Tef

Direction:
D09 DD DDV DD DDVVIVIVVD DDV DD DIV DD DIDDVIDVD DD 0D DD D0 DDV VDDV DIP000 9 0 I907707

22 WE 1894 1 ATH 2ft1 ST AT 3FeIgaTet b TR W HETHT TTER BT afers o JAaRMIsT T 3TN ofT| 59 3= § RIERTT
e 3R AT B HRAR 31TE & 3EgAdT TS BUHt B Hban Bl A B S1g HeTdHT T aToRit 31 @ At dar 31 ot v
YR T A HETHT TMTeft Y AeTet BRebdt ATHd Teb THTEIR UcR fT 3R 37 'S5 wlermdst e 2o & 5ut o
TG B oIfC Bell ok UeA B d1c TeTqT el TR &) 781 SR3R7eT I8 oRka AeTel afemTauT & 9l ofE 11T Aarefdr deier
afId B vy | 1A 7 WRdTa! B AdTefbR ddafd B @ T U ot afcadr ot sadbT TRiRr I8 AT &f 5117 et 3 3703
G20 W HaATeIfbR b1 3TN A&l BT 318 GHR o=l A HATUfbR G &1 BIs HdeTd &l &1 SPT aHddid 3Ga[d dl HRATT &
TATIR B AT ATI ETeTTd Pl &€ AdecR S It DI Pt BRI 4 HRATIT B €12l 33T <fT| 319 afers ARIE afde
IR # SIGe TTAT| afeT A 3T @9 T 57t A I BT 3PRE IR 7Tl HRAtiTest st 3R TRermTt SRaes T1Teft 51t arost
TIAT BY T 3B HRATaT P Afded Bl HefldR BRd gE Bel Bl aiod bl IRIY ARA5HIP BRI & 3R SHP ol I8 Bt
Vi TRPR BT (e TET o7l ITEIT HARIE DY AeTel S31U BIRE H deeidp? HRATAT P bR & ¢ft HeRY BT

e Question No. 38
TR B B AR UaR BT 36101d BiT 71T 872
Options:

1. AT TRBA
2. £33 waTes
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3. £33 v
4. 32T TI3HA
5.

Answer : ATl FIdhS

Direction:
DDV DD DIDVDVD DD DPIIVIVVDVD VPV DD VDD DD DIDDIDVD DD DD DD DD VDD IDIDVDD DIV DD DD IDDD

22 g 1894 Bt oMW 2ft| SR QeI NG B ER TR HETHT T Bt afSTs a JAaRfHIST BT 3TN o7l 9 3= # RIERAT
e 3R ATeT B MR 31TE &1 EgATT T BUt B Habed Bl A B gTe HeTdHT Tl aToRft 31 @ @t 3ar 31 vt v
YR GATARY 3 HETqHT T Y ATl TRa" ATHG T TATIR UaR fT 3R 398 '§f3 hiassT AT 2fiRue A 5uT ok
Ta B T BeT| okd TS & sTe HETqHT Tt TR &) 81 SR318eT I8 oRd AeTel dfeaHT & 92f iU 7T AaTefeR Feied
aEIF B afv 7 TR # WRATAT BT HATE(BR Adaid B & THT UBST B afdaaT off | ST TRIRM T AT B 517 AP A 3709
Sl # HATUfbR BT 3U1T TEt BT 378 GER G2 H HATHfbR & &1 BIs Adeld T&l 81 SHb! dRddid 3¢a dl HRART &
TITYR b1 AT AT ETEATd bl 86 AeIGaR ST dTet DI B STHbRT 4 HRdTA! @ 8IM 38T 50| 31d afers AWRie afode
RfERET & gea T afeT B 3T @17 TTER 57 A 3B BT APRE DA ol HRaTeT st 3R et SRaass TTeft 57 wrost
qg2fd 81 77| 3HEI WRdTaT & Afded Bl HdldR &id g€ Pal Bf dfidd BT gy GRAsHIb BRI & 3R 54 Al dg Bt
I TRBR BT (e TET o9l ITEIH HHARIE DY ACTel 531U BIRE H deeidp? HRATT P UfbRT & ¢ft HERY BTl

e Question No. 39
HATEIfBR HRMeM afeiies BT BT 3gard aT?
Options:

1. HRd 14T Y HaTerfbR ST

2. MRt &1 AdTefdR § defd Bam

3. WRATT &Y GATUR & 37eifds 37aR 3UcaE] BT
4. HRATIT Pt Tt # HPfterRt e

5.

Answer : HRI1 & AdTefdR § dafd &wAr

Direction:
DD DDV DPVPVDD DD PIDIDIVDIVVD DD DD DDV DD DIV DD DD DD I PIDD VDIV DD DD 99D W00
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22 W€ 1894 Bt MW 2ft| e AT YEgeTet B TR W HETHT TTEht Bt afSTe o AR BT AT o715 3= § RIERT
TG 3R AeTeT B HRATT 3T A1 G US BUT B Hheh B AT B STg HeTaAT el aroRft 31 & oift aar 31 ot v
YR T A HETHT TTTeft BY AeTet BRebdt ATHdb Teb THTEIR UcR SfaT 3R 378 'S5 st A1 2o & 5ur o
Te P oAfC BETl ok Ue B dIc HeTqHT e TR &) 781 R3RTeT I8 oRka AeTel aferTaHT 7 9l fE 7T HarefdrR Geier
Ifogd B afty 7 5714 7 HRATIT B AdTUfBR Jdafd B P TH UBST Bt afdeHT off | ST TRIM € AT Bf 571 APl A 3707
SR W HATEIfbR T 3UTNT T&l BT 378 GAR o= A HATUbBR G &1 BIs Aderd &l &1 SHPT arfddid 3Gad dl HRArT &
TATIR DI AepAT ATI ETeTTd Pl &€ AdecR S ITed DI Pt BRI 1 HRATIT & €120 33T €fT| 7 afers GARIE afde
RfERET & et T afeT B 3T 9T TTER 57 A I BT APRE B ot | HR T tisT 3R et Sads: et 57 ot
Tqgefd 81 7TE| 3ER WRATAT & Afded Pl HeflbR Bd §U Bel Bf afddd BT IRiel ARasi(Pb BRY & 3R 54D dfv Ig Bl
Vi IRBR BT b TEl 1| 3TEI HHRIE Bl ATel 53R BIRA W decieh? HRATT B efbRT & oft HeRY BT

e Question No. 40
0T TTefsHt @ 3B BT ATRE A 71 BTl -
Options:

1, AT & o A o 4

2. 378 TTeRsT T GavTa Igd Wi ol

3. TTEd & B TMTefsTt 37 A HATUfBR Wit aftiad o1 afier o3
4. 3 Mt A HATEfBR Geier aftrds @ oift gwRe dred I

5.

Answer : d TTeq & Bf ITTefsTt 37 Al AaTefpR H2ied afdad o1 afiie Bl

e Question No. 41

GST was introduced as the Amendment Act.

Options:

1.100
2.101
3.102

4.103
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Answer : 101

e Question No. 42
In which state of Indian in festival Pongal celebrated?
Options:

1. Kerala

2. Maharashtra

3. Tamil nadu

4. Andhra Pradesh

5.

Answer : Tamil nadu

e Question No. 43
What does "Triratna" mean in Buddhism?
Options:

1. Tripitaka

2. Buddha, Dhamma (dharma), Sangha
3. Satya, Ahimsa, Karuna

4. Sheel, Samadhi, Sangha

5.

Answer : Buddha, Dhamma (dharma), Sangha

e Question No. 44
Which State of India is located in the north of tropic of Cancer?

Options:
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1. Tripura

2. Manipur
3. Mizoram
4. Jharkhand

5.

Answer : Manipur

e Question No. 45

Mangrove vegetation in India is most extensive in

Options:

1. Malabar

2. Rann of Kutch
3. Sunderbans

4. None of these

5.

Answer : Sunderbans

e Question No. 46
Which of the following countries was the host country of the 22nd FIFA World Cup Football in 2022?
Options:

1. Oman
2. South Africa
3. Qatar
4. Brazil

5.

Answer : Qatar
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e Question No. 47

Arrange the following battles in Chronological Order:

|. Battle of Chausa

II. Battle of Buxar

Ill. Battle of Haldighati

Options:

TLAL
2.0, 1,1
3.1,
4.1, 1,1

5.

Answer: |, I, Il

e Question No. 48

In which year was The Reserve Bank of India was established?

Options:

1.1935

2.1947
3.1950
4.1952

5.

Answer : 1935

e Question No. 49

Who was the Governor General of India at the time of the Sepoy Mutiny?

ixam
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Options:

1. Lord Hardings
2. Lord Canning
3. Lord Lytton

4. Lord Dalhousie

5.

Answer : Lord Canning

e Question No. 50

Who has conferred the 56th Jnanpith Award for the year 2021, in April 2022?

Options:

1. Nilamani Phookan
2. Ramdarash Mishra
3. Aarefa Johari

4. Satyapal Malik

5.

Answer : Nilamani Phookan

e Question No. 51

Who among the followings has resigned as Italy’s prime minister on 21 July 2022?

Options:

1. Arnaldo Forlani

2. Mario Draghi

3. Massimo D'Alema
4. Mario Monti

5.

Answer : Mario Draghi

ixam
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e Question No. 52
The Mughal ruler Akbar was bornin _________

Options:

1. Amarkot

2. Fatehpur Sikri
3. Sialkot

4. Agra

5.

Answer : Amarkot

e Question No. 53

In November 2022, who has been chosen for Major Dhyan Chand Khel Ratna Award for 20227

Options:

1. Sharath Kamal Achanta
2. Sathiyan Gnanasekaran
3. Seema Punia
4. Lakshya Sen

5.

Answer : Sharath Kamal Achanta

e Question No. 54

is known as the 'Father of Indian Ornithology".

Options:

1. John James Audubon
2. Konrad Lorenz

3. Salim Ali

ixam
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4. Allan Octavian Hume

5.

Answer : Allan Octavian Hume

e Question No. 55
Olaf scholz, the new German Chancellor belong to which of political party?
Options:

1. Social Democratic Party

2. German Republic Party

3. Social Republic Party

4. National Democratic Party

5.

Answer : Social Democratic Party

e Question No. 56
The first Bharat Ratna award of independent India was given to:
Options:

1. C.N.R.Rao

2. Jawaharlal Nehru
3.C.V.Raman

4. Sardar Patel

5.

Answer : C. V. Raman

e Question No. 57

With reference to the banking system of India, what does NEFT stand for?
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Options:

1. National Electronic Funds Transfer
2. National Electronic Finance Transfer
3. National Equity Funds Transaction
4. National Equity Finance Transaction

5.

Answer : National Electronic Funds Transfer

e Question No. 58

Which of the following commissions was appointed by the Janata Dal government to investigate the circumstances

of the 1975 Emergency?
Options:

1. Sarkaria Commission

2. Mukherjee Commission
3. Kothari Commission

4. Shah Commission

D;

Answer : Shah Commission

e Question No. 59
Arrange the following events in chronological order:
I. Kalinga War
Il. Accession of Bindusar
Ill. Shunga Dynasty
Options:

1L,
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2.0, 1,11
30,11
4.1, 10, 1

5.

Answer: I, 1, lll

e Question No. 60

The 36th National Games is coming to an end after a glorious display of sporting performance and sportsmanship

spirit. In its 36th edition which state hosted the National Games for the first time in 2022?
Options:

1. Mahrashtra

2. Uttar Pradesh
3. West Bengal
4. Gujarat

5.

Answer : Gujarat

e Question No. 61

In a certain code language, ‘"ADVANCE’ is written as 'VDAAECN’ and ‘BABYSIT’ is written as ‘BABYTIS". How will
‘AFFABLE’ be written in that language?

Options:

1. FFAALEB
2. FFAAELB
3. FFAAEBL
4. AAFFELB

5.

Answer : FFAAELB
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e Question No. 62
M introduces K saying “She is the wife of the grandson of the father of my father”. How is K related to M?
Options:

1. Sister

2. Daughter

3. Sister-in-law
4. Niece

5.

Answer : Sister-in-law

e Question No. 63
Which of the following numbers will replace the question mark (?) in the given series?
29, 33, 7,113, 369
Options:

1. 55
2.51
3.54
4.49

5.

Answer : 49

e Question No. 64

If 'Chair' is called 'Fan’, 'Fan' is called 'Remote’, 'Remote’ is called 'Bottle’, 'Bottle' is called 'Glass', 'Glass' is called

'Stabilizer', then in which water is stored or filled?

Options:

0(6
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1. Fan

2. Remote
3. Bottle
4. Glass

5.

Answer : Glass

e Question No. 65
‘A + B' means 'A' is the sister of 'B".
‘A @ B'means 'A'is the wife of 'B.
'A'S B' means 'A' is the son of 'B.
‘A % B' means 'A' is the mother of 'B'.
What is the relation between 'S and P' in the given expression'P @ QSR % S + O"?
Options:

1. Sister

2. Brother

3. Sister-in-law
4. Brother-in-law

5.

Answer : Sister-in-law

e Question No. 66

In a certain code language, POST is written as 5927 and STORM is written as 27913, then how will MOTORS be

written in that code language?
Options:

1.392953
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2.397912
3.379152
4.391752

5.

Answer : 397912

Question No. 67

Select the option that is related to the third number in the same way as the second number is related to the first

number.
27 0702 0012 O?
Options:

1.341
2.103
3.132
4. 402

5.

Answer : 132

Question No. 68

Three of the following four numbers are alike in a certain way and one is different. Pick the number that is different

from the rest.
Options:

1.527
2.628
3.123
4.708

5.



Answer : 708

e Question No. 69

If A=26and T =7, then AUTHENTIC =?

Options:

1. 266719221371824
2.266719221471824
3.266719221371825
4.266719221371823

5.

Answer : 266719221371824

e Question No. 70

Find the missing term:

9, 27, 31,155, 161, 1127, ?

Options:

1.316
2.135
3.1288
4.2254

5.

Answer : 1135

e Question No. 71

EM3P57RTVZO9DIFQX46HI28W
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Which of the following is exactly in the middle between the 7th letter/number from the left end and the 9th

letter/number from the right end of the above sequence?
Options:

1.D
2.9
3.1

4.V

5.

Answer: 9

e Question No. 72
Identify the number that does NOT belong to the following series.
18, 27, 35, 45, 54
Options:

1.18
2.45
3.54

4.35

Answer : 35

e Question No. 73

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically

follow(s) from the statements.

Statements:

All sweets are food.
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All food are healthy.

Conclusions:

I. All sweets are healthy.

Il. Some healthy are sweets.
Options:

1. Both conclusions | and Il follow

2. Only conclusion | follows

3. Neither conclusion | nor Il follows
4. Only conclusion Il follows

5.

Answer : Both conclusions | and Il follow

e Question No.74
Three of the following are alike in a certain way and one is different. Pick the one that is different from the rest.
Options:

1. Taj Mahal

2. Burj Khalifa

3. Colosseum

4. Great Pyramid of Giza

5.

Answer : Burj Khalifa

e Question No. 75
Find the missing term in the series.
7,6, 61, 60, ?, 600, 6001

Options:
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1. 601
2.610
3.61

4.62

Answer : 601

e Question No. 76

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically

follow(s) from the statements.

Statements:

All passion fruits are custard apples.

Some custard apples are bananas.

Conclusions:

|. Some custard apples are passion fruits.
IIl. All bananas are custard apples.
Options:

1. Neither conclusion I nor Il follows
2. Both the conclusions follow

3. Only conclusion Il follows

4. Only conclusion | follows

5.

Answer : Only conclusion | follows

e Question No. 77

Replace the question mark with an option that follows the same logic applied in the first pair.
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Seismology: Earthquake::Geology: ??
Options:

1. Volcanoes
2. Earth

3. Animals
4. Oceans

5.

Answer : Earth

e Question No. 78
Which day falls on 04th March of a year? If 16th December of the previous year was a Monday.
Options:

1. Sunday

2. Monday

3. Tuesday

4. Cannot be determined

5.

Answer : Cannot be determined

e Question No. 79
Select the option which is related to the third term in the same way as the second term is related to the first term.
RKP:VHS :: UIM : ?
Options:

1. XHQ
2.YHQ
3. XGP



4.YGP

Answer : YGP

e Question No. 80

Which alphabet - digit pair will replace the question mark in the given series?
23K, 28I, 34G, 41E, ?
Options:

1. 49F
2.49C
3.C49
4.4C9

5.

Answer : 49C

e Question No. 81
What is the default extension of a file created in MS-Power Point 2016?
Options:

1. .pptx

2..ppt

3..ptx
4. ptpx

5.

Answer : .pptx

e Question No. 82
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Number of bits in internet protocol address are -

Options:

1.4
2.8
3.16

4.32

Answer : 32

e Question No. 83

GUI stands for

Options:

1. Graphical Usage Interaction
2. Gaming User Interface

3. Graphical User Interface

4. Graphical User Interaction

5.

Answer : Graphical User Interface

e Question No. 84

Which of the following is an example of popular antivirus?

Options:

1. Bitdefender

2. Worms

3. Sasser

4. Encrypted virus

5.

ixam
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Answer : Bitdefender

e Question No. 85

In Computer terminology, what is the full form of EPROM?

Options:

1. Extended Programme Rewritable Only Memory
2. Erasable Programmable Read-Only Memory

3. Electronic Programmable Retrieve Only Memory
4. Executable Programme Revise Only Memory

5.

Answer : Erasable Programmable Read-Only Memory

e Question No. 86

Which of these ports can be used to output an audio signal?

Options:

1. PS/2
2.LAN
3. HDMI
4.DB-25

5.

Answer : HDMI

e Question No. 87

Virus comes from

Options:

1. Keyboard
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2. Mouse
3. Pendrive
4. Monitor

5.

Answer : Pendrive

e Question No. 88

Google, Bing and Yahoo are examples of

Options:

1. Firewalls

2. Search Engines

3. Mobile Applications
4. Software

5.

Answer : Search Engines

e Question No. 89

CPU stands for

Options:

1. Central Processing Unit

2. Computer Preprocessing Unit
3. Central Preprocessing Unit

4. Computer Processing Unit

5.

Answer : Central Processing Unit

e Question No. 90
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_______ is NOT an operating system.
Options:

1. DOS

2. Linux

3. Windows
4. Oracle

5.

Answer : Oracle

e Question No. 91

First cyber law which provides the legal infrastructure for e-commerce in India is
Options:

1. The Information Technology Act, 1996
2. The Information Technology Act, 2000
3. The Information Technology Act, 1998
4. The Information Technology Act, 1990

5.

Answer : The Information Technology Act, 2000

e Question No. 92
What is Digital Signature?
Options:

1. Sender's Signature
2. Unique Code

3. Encrypted Signature
4. None of the above

5.

ixam
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Answer : Encrypted Signature

e Question No. 93
Which of the following keyboard shortcut will help you to insert hyperlink in MS-Word document?
Options:

TLAIt+L

2.Ctrl +L
3.Ctrl +K
4. Alt + K

5.

Answer : Ctrl + K

e Question No. 94
Choose the smallest memory size unit.
Options:

1. KB
2.MB
3.GB
4.TB

5.

Answer : KB

¢ Question No. 95
Which among the following is a mobile phone gaming virus?
Options:

1. Trojan Horse

0(6
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2. Creeper
3. Brain
4. None of the above

5.

Answer : Trojan Horse

e Question No. 96
The scope of cyber security is
Options:

1. Vulnerability reduction
2. Incident response

3. Recovery policy

4. All of the above

5.

Answer : All of the above

e Question No. 97

Which one of the following shortcut keys is used to copy a portion from a document in MS-Word 2007?
Options:

1.CTRL+ N

2.CTRL+O

3.CTRL+C

4. CTRL+S

5.

Answer : CTRL + C

e Question No. 98

%



Which shortcut key is used to delete a file permanently in Windows?

Options:

1. Delete

2. Backspace
3.F2

4. Shift + Delete

5.

Answer : Shift + Delete

e Question No. 99

Who is known as the ‘father of computer?

Options:

1. Pascal

2. Hollerith

3. Newman

4. Charles Babbage

5.

Answer : Charles Babbage

e Question No. 100

What is the full form of UPS?

Options:

1. United Power Supply

2. Uninterruptible Power Supply
3. Universal Pulse Supply

4. Unidirectional Power Supply

5.

ixam
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Answer : Uninterruptible Power Supply

e Question No. 101

A sum was invested at 12.5% simple interest for 3 years. If the same sum was invested at 4.16% more for the same

period, then it would have fetched Rs.120 more. Find the amount invested. (in Rs.)
Options:

1. Rs.1060
2.Rs.960
3.Rs.985
4.Rs.850

5.

Answer : Rs.960

e Question No. 102

There were 24 students in the class. One of them, who was 18 years old left the class and his place was filled up by a

newcomer. If the average of the class was thereby lowered by 1 month, the age of the newcomer is
Options:

1.14 years
2.15 years
3.16 years
4,17 years

5.

Answer : 16 years

e Question No. 103

The efficiency of A is twice that of B. Both working together can finish a piece of work in 18 days. In how many days

B alone can finish the work?
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Options:

1.27
2.63
3.45
4.54

5.

Answer : 54

e Question No. 104

What is the compound interest (in Rs.) on a sum of Rs. 8192 for 1(1/4) years at 15% per annum, if interest is

compounded 5-monthly?
Options:

1.1740
2.1735
3.1634
4.1640

D;

Answer : 1634

e Question No.105

In an election out of the total voters, 10% of the voters did not cast vote. Out of the two candidates who were up

for the election, the winning candidate got 55% of the total votes cast and won the election by 8874 votes. Find

the total number of voters.
Options:

1.98600
2.6800

3.96400
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4.94600

5.

Answer : 98600

e Question No. 106

Three numbers are in the ratio 19 : 21: 23. If the difference between thrice the third number and the sum of first and

second number is 841. Find the difference between the first and third number?
Options:

1.116

2.126
3.146
4.136

5.

Answer : 116

e Question No. 107

The average of 16 numbers is 20. The average of 1st 7 numbers is 15 and the average of the last 7 numbers is 25. The

8th number is 16 more than the 9th number. What is the value of the 8th and 9th numbers?
Options:

1.24 and 16
2.28 and 12
3.32and 16
4.40 and 24

5.

Answer : 28 and 12

¢ Question No.108
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12 women and 16 men can do a piece of work in 5 days. 13 women and 24 men can do it in 4 days. How long will 25

women and 50 men take to do it?
Options:

1.1days

2.2 days
3.3 days
4. 4 days

5.

Answer : 2 days

e Question No.109

The ratio of the income of Ram and Shyam is 15 : 16, the ratio of their expenditure is 5 : 6, If both of them saves Rs.

10000 each, then find the amount by which the income of Ram is less than the Shyam's income.
Options:

1. Rs.1000

2.Rs. 5000

3.Rs. 6000

4. None of the above

5.

Answer : Rs. 1000

e Question No. 110
What is the least number of three digits, which when divided by 6, 12 and 15 leaves no remainder?
Options:

1.210
2.150

3.120
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4.180

Answer : 120

e Question No. 111

A shopkeeper purchased two books with Rs 110 each. one book he sells at Rs 150 and other he sells at Rs 100. What

is his over all profit or loss percentage in the whole transaction ?
Options:

1.16.66
2.13.64
3.26

4.2272

5.

Answer :13.64

e Question No. 112

Income of Shanu is 87.5% of the income of Govind and Shanu together. If the saving of Govind is 30% of his income

and equals to Rs. 4500, then find the difference between the incomes of Govind and Shanu. (in Rs.)
Options:

1. Rs. 90,000
2.Rs. 91,000
3.Rs. 92,000
4.Rs. 93,000

5.

Answer : Rs. 90,000

e Question No. 113
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Solve:
56 - [35-{18 + 6 - (18 - 20 + 4) +13}]
Options:

1.27
2.23
3.25
4.26

5.

Answer : 23

e Question No. 114

In a shop there are two varieties of rice, the costlier rice is Rs.45/kg and cheaper rice is Rs.30/kg. In what ratio

should they be mixed so that on selling the mixture at Rs.56 there is a profit of 40%?
Options:

1.2 01
2.102
3.304
4.503

5.

Answer:2 01

e Question No. 115

P's income is 20% more than Q's income and Q's income is 30% more than R's. By what percent is P's income more

than R's?
Options:

1. 60 percent
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2. 50 percent
3. 56 percent
4. 65 percent

5.

Answer : 56 percent

e Question No. 116

32° 43204+ 377 4 3% s divisible by

Options:

1.1
2.17
3.25

4.30

Answer : 30

e Question No. 117

The selling prices of articles A and B are the same. A is sold at a profit of 28 percent and B is sold at a loss of 24

percent. If the total selling price of the both articles is Rs. 48640, then what is the cost price of A and B

respectively?
Options:

1. Rs. 26000, Rs. 40000
2. Rs. 24000, Rs. 38000
3. Rs. 17000, Rs. 28000
4. Rs. 19000, Rs. 32000

5.

Answer : Rs. 19000, Rs. 32000
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e Question No. 118
H§+§=—L3#Qb#OJMmﬂmvmmHﬂﬁml—WH&

Options:

1.6
2.3
3.0
4.1

5.

Answer: 0

e Question No. 119

Every month Ravi spends 20% of his salary on food, 25% on house rent, 15% on education, 30% on miscellaneous

expenses, and saves the rest. If his monthly salary is 10,000, then his monthly saving (in ) is:
Options:

1.1200
2.500
3.2,000
4.1000

5.

Answer : 1000

e Question No. 120

fy: (76+84)% - (76 -84)° _ 2
76x84

Simpli

Options:
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1.4
2.9
3.8
4.6
5.
Answer: 4
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